e G 991 STe- (SR ) el GO 2020

TR B 2, (5,528 forSes ) & 9y 30 gxi-zo-zq

— A FE )
:;OKLETW:Ii. 102357
TR - 11
AT 9] TN 9 TETEAT holATaTe] a9 1 o e ¢ 100
@ : 1 (0F) A T T ¢ 200

(1) TET sgResa 100 SIFER ¥ed . ST T Tt fofkvard geaTa HXvaTgdl a1 FeTgRachd
o 797 Sed Rba1 A AT @ HET T, quE S B W e 8 YeTgRaw SHaamEg
g gEg T N ) T

(2) e TheT-Huis ' A 4D
= e St foerE.

O
. e
3) mm@muﬁgﬁawwmngmﬁﬁﬁ?ﬁﬂmwﬁwqﬁ%ﬁﬂa@mqﬁmmm.
@ (&) mwsﬂgﬁaﬁﬁu@iﬁuswwuﬁmﬂ%gaﬁ@lwm1,2,36{@14&@%&@5@5@%& !
AT TR et dr ST i SR e GEyET e SThat T HUEL Sl
T TARATRRT T T FA A FE TSBRIHEHIT Bl HEd auiael STe At
Tl AT, TR e BTN QA SR A, A A ae I 9 .
(@) e R T et S e R o T 1 ToreraT TR WeS NS S0 TR AR 3
BITTATR ST ST, AT SHeee R ARTSTees RY-Troe JROrENiges Sl 0 IO Tt fion stieary
STERT ST, TR T Wee T st wene argH vem.
(5) T Wi T O ST, AT e WA gay A, =TS g S AT T Jadr S 99
foTqeRT AT e EISaTad. BT U TSR ST ST UU Tl 999 T e A ¥ A el 16
Qe T, T T SraTean U UEeeeaR ¥ Rieeh Uik S A el YIhs
TV HISEhL 1S
6) mﬁ%mw%@%w@wﬁmﬁ.w%&%w%wﬁww&mwmﬁ
THIET e T G HETE A T gAY TS TES T T DA FAC 0 A HA A,
7) TR TN T A B SHEATIEA] S A S o1 e A, THT *IATAH
Fegres TETaT EAT WeiE R A SRt A 9 SR SR TS SO, U] e S
BRI Welreh Jobred Saiarel 2 5% fkan 1/4 o7 ot/ devar .’

AR

a wyREREd) S fifss ¥R T2 dUEa @ gegREE STERTN HeR SR @ e
AT THAAE A A A9 AR, 8 @ HUwEE a9 weaghhad we/ud, fha ae
RS FE AT FITATE WE(H TS T ATAHTN FOTATE AT 0], T8 e
FO @ T A el FA FTOm AR AT Wl B CofieEed fromn v
yiyde SATEEA AfER—-8 2" TS TgEIaR qid FEltn S Sgegan FEE A
gamaﬁwwwmmﬁﬁmmﬁwwmmm&ﬂm
i o veatrRar fifst ¥ 3o aeeaendl 1 weTgiEE ST T w gE TR g
FOT AR AT FHEOEEE, T8 ThEe wRasEgEd e Al e aRREs .
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1. HER ¥ YOihTEr WY el W ST Ue A1 Heeie SOl 81§l WRT W T8 Y
A U YU Y@ TEAT .
X & Ui 7 S A& e W S AL (x2 — 1) A .
(1) HHE 6 T WA SN A
(2) SedE 24 F T S
(3) el 6 7 W WEd oMY FHAMAT 12 7 HAT TR fhar TR SO AT
(4) e 12 ¥ AFT A ST 24 N HAMT WET SeA RhaT SO AT
If any positive integer is not divisible by any positive integer other than itself and one it is said to be
a prime number.
Let x be the prime number greater than 7, then (x?—1) is .
(1) never divisible by 6
(2) always divisible by 24
(3) always divisible by 6, and may or may not be divisible by 12
{4) always divisible by 12 and may or may not be divisible by 24

2. O HASN THFRAT AN ot v sres=n fEnstdt @emn sreadr ame. 500 faemeiay
ureell FHET & SHA T FBell 3T,

R

T A o sas sraom=n fereaty it fawa 7 smasomn frmmeish seew quiras @ ?

2 6 1 4
(1) '9' (2) “5 (3) — 4) E

[T E o —

THIAIE

9

The labelled shapes in the ven diagram shows number of students who like that subject. The diagram
is prepared on the basis of survey of 500 students.

)
N
v Mathematics

What is the ratio of the students who like all the three subjects to those who do not like
mathematics ?

Physics Chemistry

2 6 1
® 3 @ 3 ® 5 @ >

FHe] FTTATS AT / SPACE FOR ROUGH WORK PT.O.
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3. TETA@ER 36 ATE ThI S TH Hotel! ART.  Tiewdl BIAAL U TpeT, GHAT HIHAT & e,
fore=an AT A wpedl ... S19T Ggd aresy I+ Shelelt ot
afrebreaT gE arent WG fRd wped o ¥ siven ?
(1) 14 2) 15 (3) 16 (4) 17

36 vehicles are parked in a parking lot in a single row. After the first car, there is one scooter, after
the second car, there are two scooters. After the third car, there are three scooters and so on.

Work out the number of scooters in the second half of the row.
(1) 14 (2) 15 (3) 16 4 17

4. T : B FHAT YIS HEA, WA TR e @q-H o WY ST e seR Sidedel
feqara. arar sl orEn A Fruedt Yo EwiY HaH STE/AEI, gReH STH/AH, a1 Hee SwE/
YU I A SR, BIONE! STHG: SN STHAT T, FEITT, BT qUT BE, THHE qEl 96 &6
TH. T T BTATHIS! L9 ADIME ToaeTae] STHUAT! AT e,

T : Y U AT FIE S AT M. TR A, T AR sy sarTia aev e wmar
BUGTEAT AT TeHaed] . D @ Hr INTe TR 9od SN & e ar Wi &
e, YT GEEMEA T8 T GHE BAFIT AT AEEErd [l qblad STardT qTaraad el easdiemol
SIEvITEAT YA SIS 3T 3T BIel Al foqa e

T @ Frigmadarde gt 36 e sfoare sfa ao= soma g Fasrn

(1) orHeg 3.

(2) TEHIRD T T THE HAT T T B STHIIAT bl & gaad.

(3) o fawwar #H HTvaran waE gaadl.

(4 T gt Herar U GHIT SO 378,

Ditee : We can see that many persons progress economically by acquiring some capacities and by
augmenting his or her market value. This means that inequality is rooted in whether persons are
capable or not, intellectually efficient/diligent or not. Even if anyone is born with poverty, by using
his or her intellect, skills diligently he or she can overcome it. It is necessary to have democratic

governance in the country for making this possible.

Heli : There is some truth in whatever you say. Young generation acquired jobs with salaries of lakhs

of rupees in information technology and computer based industries. With this they did promote

themselves from lower to higher economic strata. But I don’t see that society is trying to get

explanation as to what should be the discrepancy between remuneration of software technologist

and cleaning worker.

Choose the appropriate option that describes appropriately Heli's response to Ditee’s observation

and comment.

(1) Itis irrelevant

(2) It suggests that there should be no difference between remuneration of software technologist
and cleaning worker.

(3) It suggests alternative course of action for reducing economic inequality.

(4) Brings forward an aspect neglected by Ditee.

FET FTHTET AR / SPACE FOR ROUGH WORK
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5. TH GLIAIN SISAR b T ST UH Je oA, afewiy Tq @i el Jaredt aue 3T,
ST T =1 T ITETAT TTeAT UHQiet 3. Tt Rrean wdiven TR auis wEM AT ST 9IS
e sfkoiden = aui RieT o, T omEw A9 bt ?

(1) 409Y (2) 4899 (3) 54°% (4) 6099

In a family a couple has a son and a daughter. The age of the father is four times that of his
daughter and the age of the son is one third of that of his mother. The wife is 4 years younger to her
husband and the brother is 4 years older than his sister. What is the age of the mother ?

(1) 40 years (2} 48 years (3) 54 years (4) 60 years

6. TEEIS AN TH F WIVATEAT PO Ui 5 1 ST, TN 5 WreX T S wX & Ui 502
e, T frondie gam el Fres.

(1) 15 @ (2) 25 . (3) 20 (4) 10 @

A mixture for making tea contains milk and water in the ratio 5: 1. On adding 5 liters of water the
ratio of milk and water became 5 : 2. Select the quantity of milk in this mixture.

(1) 151t (2) 251t (3) 20Iit. (4) 10 lit.

7. 3@ gimearr faed Bearat e e, CHEEuTgT STaTqddedn el S WRT ST
YOTT HEATTEAT Josdl FrT AT fHosat. Rl ST S fHek

T U ST A 9o e

(1) 8:36 (2) 9:36 (3) 9:38 (4) 10:38

When requested for time the person said, “If you add one quarter of time from midnight till now to
half the time from now till next midnight, you get the present time”.

Select the time that person is describing.

(1) 8:36 (2) 9:36 (3) 9:38 (4) 10:38

o FTATS ART / SPACE FOR ROUGH WORK P.T.O.
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8. 7 fraia s a w1 femron qife amaen B wew qu oy, areh wRe fmr e @ oar fswroh
W g HRE I e, W B0 RO 1 femmonsh @ Wik qet uieg e, mrensh
(mﬁm)wmmﬁwmman%aﬁtﬁmm%(m)wﬁwmw
Ferste welt de. X geiret derat W el e Teeat gor o A 39 AT e S e <
TEI BT 0 SRre o H B et Tewd, @ W ARaR yadt o @i SIsareT SEm
ST IO ST ST ST A . S R o s @il S T we e e
aaﬁﬁaﬁhﬁwwm,m@mﬁmﬁﬁﬁmmwm@amﬁﬂﬁ
A TS JETh T ITHUITT ATE.

he diee [T AT aieward ufiebaren SN atd SRid 9ol ST or frasT,
(1) fad (2) Faemaee  (3)  sfaseEy (4) o H

There are not many places that I find it more agreeable to revisit when in an idle mood, than some
places to which I have never been. For my acquaintance with those spots is of such long standing,
and has ripened into an intimacy of so affectionate a nature, that I take a particular interest in
assuring myself that are unchanged. I never was in Robinson Crusoe’s Island, yet I frequently return
there. I was never in the robbers’ cave, where Gil Blas lived, but I often go back there and find the
trap-door just as heavy to raise as it used to be. 1was never in Don Quixote’s study, where he read
his books of chivalry until he rose and hacked at imaginary giants, yet you couldn’t move a book in
it without my knowledge.

Reading is stopped after only first statement of the paragraph then select most appropriate word
that describes its content.

(1) Humorous (2) Paradoxical (3) Unbelievable {4) False

9. 1A % A1 {F T REFIE  uw e SHIER ST Ssa1 HIRedl. 991 HaTd et B
SIS, SrET ST JuarEr 9 d1sl 10 Uad R, R STaren geed diMue §E TR ST ad
HE. AT FRFEY SaeHaR faeT Jemar e wre 38 o qefanm watg freasn

(1) 3 M (2) 6™+ (3) 9 e 4y 12 Mt

Jaya and Kim are two parachutist jump from the plane at an altitude of one unit. Their p{:urachutes
opened immediately. Jaya is coming down at the speed of 10 units per hr and. Kim is coming down
three times slower than Jaya. Select the option that indicates the time of landing by Kim after Jaya.

(1) 3 minutes {2) 6 minutes {3) 9 minutes (4y 12 minutes

F7AT FTAT A / SPACE FOR ROUGH WORK
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ST FaTd S Rras T wresien d e, Srée @ qdor i e wed a feen
% T9, & §heas Y. G TR AT A Berg arES adY. o e e g,
memmmmwﬂm@mawmwm 39T
BN B A qEA Tﬁa%ﬂwwﬁmmﬁwaﬁéﬁmwwm.gﬂmﬁaﬁ
T e TX AR S uw RAsen. X W T gl e s

(1) g e
(2) 9
(3) T

(4) ST e QT TR i gUell e

Two pairs of siblings, Sahil and his sister Nuri and Nancy and her brother Pannu, played chess to
decide the best among all of them. The two players were siblings in the first game only. After 15t
game, loser was eliminated; winner played the next game and so on. Thus only three games were
played. Nuri and her brother won more number of games than other pair of siblings. The boys won
two games whereas girls won only one. Select the person who did not lose the game.

(1) Sahii

(2) Pannu

(3) Nancy

(4) Data is not sufficient for finding person who did not lose any game.

11.

3y fremy Fraer -

T T -

e

(a) TEl TV YRl $TTEd. (b) HIEN T T BTTEd.

(c) THE AT T ATEI (d) T YT TR TR,
Y I

(1) e (a) 9 (d) (2) % (b) 9 (d)

(3) W (b) T (0) (4) W (a), (d) T (b} T (@), (d) T (0)

Select valid conclusions.
True statements :

Some kites are steps. Some steps are stars. All the stars are pins.
Conclusions :

{a) Some pins are steps. {b) Some stars are kites.
(¢} No star is kite. (d) Some steps are kites.

Answer options :

(1)  Only (a) and (d) (2) Only (b} and (d)

(3) Only (b) and (c) (4)  Only (a), (d) and (b) or (a), (d) and (c)

F=AT ST AT / SPACE FOR ROUGH WORK P.T.O.
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12. W9 @A FEfEESR B Fern. @ seee 15 Bl A et 10 Red aRede e s ot
farns wegT 5 fpl e g agw @ 8 R e e e, Y UM IS a9 10 Redrar
HeTg el '

wRihes Riqu o & feelt 3¢ 9 o R ok ?
1) 2fed, o= (2) s fed oE (3) 6 Ty, gfiaur (4) 7T, wax

Johnson left for his office in his car. He drove 15 km towards north and then 10 km towards west.
He then turned to the south and covered 5 km. Further, he turned to the east and moved 8 km.
Finally, he turned right and drove 10 km.

How far and in which direction is he from his starting point 7

(1) 2 km, West (2) 5 km, East (3} 6km, South (4) 7 km, North

13. B QO i Sr@eme A el st Fraet vow n @ Aafte den o

{(a) 5n-1 (b) 5n+1 (¢) 8nh+1 , (d} 3n+1
THIEY S
(1) w9 (2) wamE AN (3) W (a) ST (b) (4) A (C)

Select expressions that will never be perfect square where n is a natural number.
(@) 5n-1 (b) 5Sn+1 (c) 8n+1 (d) 3n+1
Answer options :

(1) Al (2) None (3) Only(a) and (b) (4) Only (c)

14. SeEsAl FE T GHAR § JEHATT X fEadh Ar aEeErd Bar. smen Ewel S-d s
ar 120 fopHt S HIG). ST STeasaINat @St aTE 9000 fpdt e Higa. X AT streasaTEn
HATTUIT HHET TAT-AAT BAT FATTSI I A Heral yae seiauny s feer,

(1) 1600 (2} 1400 (3) 1800 4y 1200

Nanu drives/rides bike every day from Monday through Friday except weekend. He covers distance
120 km while travelling to and from work place. After twelve weeks his vehicle recorded 9000 km
travel. Select number that indicates the distance travelled by Nanu apart from his ride to and from

work during twelve weeks.

(1) 1600 (2) 1400 (3) 1800 (4) 1200

FT HHATEE AWM / SPACE FOR ROUGH WORK
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15. M @1 TR go Rl 91 ReArEaHia fimwn géw e geaon e s
T faum
(a) [T HF SRt J AT M W S T, § STgatester upedl Th u o
(b) K &1 e A ST, o1 J = 91y e,
T W
(1) (a) T (b) I SMALIE 9 YL e
(2) A (a) gLel oM.
(3) W (a) fhar (b) Qs are.
(4) T (b) TN .
Decide sufficiency of data with respect to question : How many children does M have 7
Data statements :
(@) M is the only one son of his parents and is the husband of J who has twin daughters.
(b) K has a grandson and she is the mother-in-law of J.
Answer options :
(1) Both (a) and (b) are necessary and sufficient.
(2) (a) alone is sufficient.
(3) Either (a) or {b) is sufficient.
(4} (b} alone is sufficient.
16. ST Yo ll
THARES T
(@) fFram (iy 2021
(by i (i) 2020
() I (iii) 2009
(d) =X (iv) 2019
QR

(a) (b) (o) (d)
1y ) @) @) (i)
(2) Gy Gy @(vy (D)
(3) @iy (1) (i) (iv)
(@) Gy (@i (v) ()
Match the following :

Cyclone Year
(a) Nisarga {i) 2021
(b} Tauktae (iiy 2020
(¢} Phyan (iiiy 2009
(d) Kyarr (iv) 2019

Answer options :

(@) (b) (¢) (d)
1)y ) ) @iy (iv)
(2) (i) (i) (v) (D)
(3) i) (i) i) (iv)
(4 Gy (i) vy (D)

FoA1 FMTA JARN / SPACE FOR ROUGH WORK
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17.

10 A

HERTSTI =T g =Y Ara fawh sl e ®wer (MHADA) el Saume &l ?
(1) <7 1975 (2) wETd 1985 (3) fswax 1957 (4) feday 1977

MHADA an institute in Maharashtra which developes slums and houses when has it come into
existence 7

(1) June 1975 (2) January 1985 (3) December 1957 (4) December 1977
18. HeNI o9 [ warHse walfeq =Y e e Fel,

(1) 1982 (2)y 1979 (3) 1984 (4y 1974

Forest Development Corporation of Maharashtra limited was established in .

(1) 1982 (2) 1979 (3) 1984 (4) 1974
19. TEIH! IO THARTY/ALIT T HTed ATEBH HIS T 7

(1) ofard (2) (3) == (4) AT

Which of the following Sanctuary/National Park is large in Geographical area ?

(1) Andhari {2} Tansa {3) Chandoli (4} Nagzira
20. TERTS TRie UTENl arEane 2019-20 JEIX T=ATd 2018-19 Heh THW Hriifasd &smie fpdl zws &=

AT B ?

(1) 2010 ' (2) 1840 (3y 1790 _ (4) 1413

According to Maharashtra Economic Survey Report 2019-20 what percentage of the total
geographical area in the State was under forest in 2018-19 ?

(1) 20.10 (2) 1840 (3) 17.90 (4) 14.13
21. ST 2001 TN @At Bivrem el diedean  ar 200 9&r SH Sk 7
(1) +ids (2) ST (3) STEFETI (4) IqqHTS
As per the Census 2001 which of the following districts has less than 200 population density ?
{1) Nanded {2} Jalna (3) Ahmednagar {(4)  Yavatmal
22. WA Guil FEreT ST fatEie ST Suan S 7
(a) Iy (by famam (c) o= (d) s
T T

(1) (a) 3T (b) (2) (b) ST () (3) (c) WM (d) (4)  (a), (b) ST (c)

Which of the following are the right bank tributaries of river Purna ?

(a) Katepurna (b) Biswa (¢) Bhuleshwar (d) Shahanur

Answer options :

(1) (a) and (b} (2) (b) and (¢} (3) (9 and (d) (4) (a), (b) and ()
23. WY FEZEI B &5 W @ SEHid Heward e 7

(1) Tawen (2) drar e (3) STl g (4) FUW-FaLom

Which of the following is net important regarding manganese mining area in Maharashtr; ?

(1) Chikla (2) Sita Saongi (3) Dongri Buzurg (4) Warora-Vaitarna

F=AT FTHETE AT / SPACE FOR ROUGH WORK
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24. ErTE NTEEE frama el g st o1 ?

(1)
(3)

(1)

U feam (2) TR fawmm

Hpul fawm 4) ofraTEE faum
Which Administrative Division consists more number of districts ?

Pune Division (2) Nagpur Division

Konkan Division (4) Aurangabad Division

(3)

S14

25. SEFIORT 2011 E S(ETETT Fearar T-gew FHEn T oA B ?

(1)
(3)

(1)

700 d 800 TR (2) 800 ¥ 900 TTIH
900 9 1000 TTHTF (4) st A

What was the sex ratio of Nandurbar district as per the Census 2011 ?
Between 700 to 800 (2) Between 800 to 900
Between 900 to 1000 (4) None of the above

(3)

26. ST STHTS AT HeTe RIwIebTT WO Sl W ¢

(1) "SR (2) g9 (3) (4) Rreome
Jagannath Shankarsheth is known as the founding father of
(1) Maharashtra (2) Mumbai (3) Railway (4) Education
27. WWYT TROTRaA TS Iadiaoard CIEIIECIEREEI
(1) wfTEEe OE (2) TEERY QS
(3) WM A (4) S&HTE <
refused to lower the National Flag on the Solapur Municipal Council building.
(1) Manikchand Shah (2) Dadasaheb Khaparde
(3) Soman Deshpande (4) Shankarrao Deo

28. ‘GEY TSI Y& VI TG HaT 7

(1)
(3}

1)
(3)

WSET T 2y fa fie
LR IREREIC ) (4) HATTF HHATT A
Who founded the Young Maratha Party ?
Pandurang Rajbhoj (2) V.R. Shinde
Malhari Martand Dikhale (4) Keshavrao Marutirao ledhe

FAT FPATS AR / SPACE FOR ROUGH WORK

PT.0.
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29. O ST AT BIATER ardY B
(a) TATRIT I WeTedT Jehw Wi SRS TR SIS S
(b) mmﬁﬁ&ﬁ.wwmmmaﬁ@ﬁﬁwﬁwmmﬁﬁmﬁww.
(c) ST SiT Fiefy YRerien e e g3 wew,

(d) TS STATETe V&6 M TR YA T, al feow geim @ sieRe = g

TR Y

(1) G @O @ @@ b d G @b, cd @ (c), (b). (a), (d)

Arrange the following events in their chronological order.
{a}) In the Muslim League session at Lahore, resolution was passed for demand of Pakistan.

(b)  Under the Presidentship of Dr. Mohamad Igbal at Allahabad the concept of Pakistan was put

forth.
(c)  Barrister Jinna placed fourteen points for Muslim Demands,

(d) Muslim League observed mourning day when Pandit Jawaharlal Nehru took charge as Prime

Minister of caretaker Government,
Answer options :
(1) (b)) (@), (o), (d) (2)  (a), (). (b), (d) (3) (a). (b), (¢), (d) (4) (0, (b), (a), (d)

30. =T W
(a) AU eq = () e SHThies TN wrgan
(b) TN WeIIT T (i) & wifdreifve Frmes
(c) omeat ¥ 3T (iii) omEHT (AITUC) ufeer areae
(d) wTEEAE (iv) B Afrefime o seagl
QA W |
(1) @-(i), (b)-(ii), (©)-(). (d)-(iv) (2)  (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(3)  (a)-(i), (b)-(iii), (¢)-(iv), (d)-(ii) (4)  (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)
Match the following :
(a) Shripad Amrut Dange (i)  Establishment of Radical Democratic Party
(b} Lala Lajpat Rai (i) The Socialist magazine
(c) Acharya Narendra Dev (iii) First President of All India Trade Union
Congress (AITUC)
(d) Manvendranath Roy (iv) Important leader of Congress Socialist Party
Answer options : _
(1) (@)-(ii), (b)-(iii), (0)-(i), (d)-(iv) (2)  (@)-(i)), (b)-(iii), (c)}-(iv), ()-(1)
(3)  (a)-(), (b)-(iii), (c)-(iv), (d)-(ii) (4)  (a)-(i), (b)-(iii), (0)-(ii), (d)-(iv)

31. fTeTrE STEweTiA ‘faerdl FIeT A GO BT A9 @ Ry e ?
(1) T #gee (2) WA qEan (3) e fewe (4) sfaa Fard

By what pseudonym did Dinkarrao Jawalkar write in the newspaper ‘Vijayi Maratha.' ? o
(1) Bhai Mahajan (2) Bhavani Talware (3) Malhari Dikhale (4) Dalit Kaivari

FEAT FIHEIE AN / SPACE FOR ROUGH WORK
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32. it AdiA BT ToTHR Y@ TR
(1) sLFS (2) TAHUE U
(3) T THET HEATHT (4) ferTrae SR Wt
__was the leader of the revolutionary activities at Nashik.
(1) Dr. Munje {2) Uttamrao Patil
(3) Ganesh Damodar Savarkar (4) Vinayak Damodar Savarkar
33. faoqger yerEWdl a1 drgEern e giaaes’ ol S w7
1) weawa fegd (2) WM TES (3) T AEEEHT (4) HA. TS
Who called Vishnubuva Brahmachari ‘The first exponent of Communism’ ?
{1) Lokmanya Tilak (2) Sane Guryji {3) GT Madkholkar (4) M.G Ranade
34. Had IerEdTe RET TUIEEE ST TARERA HiesTia UrEaTas W[ BV SR 8 7
(1) wEmT Hd (2) HHAR WIHUE UL
(3) WU AHHT (4) Wrpleaa
Who was the Educational Inspector of Bombay Presidency and a Professor in Elphinstone College ?
(1} Mahatma Phule (2) Karmaveer Bhaurao Patil
(3) Balashastri Jambhekar () Lokahitawadi
35. Nation %Sl ‘UHHY T 19N ST B Bl ?
(1) TNt 9N HETS (2) WHERRT ga
(3) e SIqET Bl (4) . 99RT AATHT
Who defined Nation as a ‘Unified People’ ?
(1) Rajarshi Shahu Maharaj (2) Dyangiri Buva
{3) Mahatma Jyotiba Phule (4) Dr. Babasaheb Ambedkar
36. WMMAUH! BT WILAG TUHTY Hedm™ Afmse/ss] o ?

(a) oTemET STETYE (b) WA HEITEA

() gl =gradrierent (dy faTd FudHsas

Ay Ty FEeT

(1) ™ (a) (2) (b) 3T (d) (3)  (b) () (d) 4) Tha "=
Which of the following is/are the salient feature(s) of the Indian Constitution ?

(a) Presidential form of Government (b) Dominant Central Government

(¢) Dual Judiciary (d) Bicameral Legislature

Select correct options :

(1) Only (a) (2) (b) and (d) 3) (b)), (), (d) (4) All the above
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37. HI@IAT HHIF & @iiedal wansh g5fa ame ?
(a) HE-TU FgY
(b) Frasue® garm
(c) s g faig feram
TIwYS! qrT gy fger ¢
(1) @& (a) (2) e (b) (3) (a) 30T (b) 4) =W ud
The Sarkaria Commission is related to which of the following ?
(a) Centre and State Relations
(b) Election Reforms

(c) Banking and Finance Sector
Select correct option from above :

(1) Only (a) (2) Only (b) (3)y (a) and (b) (4) All the above
38. Wi STftreRTY HTE.

(1) e st

(2) HERT afaer

(3) A SIUHR e  FHESINT HAHBIT B ATel
(4) TOT e FEeli i & S8 ated

Right to information is

(1) Fundamental Right

(2) Legal Right

(3) Neither fundamental right nor legal right
(4) Both fundamental right as well as legal right

39. HEBOGAR 9FF H Wl — (FERrg™ TeaEs)

(@) WA Ifga (b) framite et
() aHaUd TEH (d) wTETERY HEw
I Sl

(1) (© (@ @ b @ (© d) b) (&) 3) @), (0 (d) (k) 4 @) b))
Arrange in a appropriate order according to tenure (Chief Ministers of Maharashtra) :

{a) AR Antulay (b) Shivajirao Nilangekar

() Vasantrao Naik (d) Babasaheb Bhosale

Answer options :

Q) © @ @60 @ ©@b.a@ @ @@ @b @ @ /@b
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(1) HOHd daA — HFT-IV A
(2) TeggRETy Fse @ — |AT-IV
(3) ¥ CIREIE — H{AT-III
(4) TP AR

Which of the following pair is not correctly matched ?

(1) Fundamental Duties - Part-IV A
(2) Directive Principles of State Policy - Part-Iv
(3) Fundamental Rights - Part-1II

(4 None of these

41. T BT BET ¢
(@) Towl o8 o Afeifees #ifew 39 e’ o 39 geEaa geer ai fode.
(b) werRrgren faam ufvwdan Fuin &7 20 o .
() werrsgren faur s Tegumig FYgE 12 998 STed.
(d) merrsgrean faer ufteRd Tt W 10 99E TEel o,
(1) % (b). (0) (2)  ®eK (), (d) (3} e (a) (b). () (4) W (b), (c), (d)
Select the correct statements :
(a) ‘Fifty Years of Legislative Council in Maharashtra’ was written by Yashvantrao Chavan.
{b) Establishment day of Legislative Council of Maharashtra is 20 July.
{c) 12 members are nominated by Governor in Legislative Council of Maharashtra.
(dy The Quorum for Legislative Council of Maharashtra is 10 members.
Answer options :

(1)  Only (b), () (2)  Only (q), (d) (3) Only (@), (b), () (4) Only (b), (), (d)
42. WITATET HIVAT THTET HEIMET T AT TG TFarmed qad! Hvard sl ?

(a) P (b) STEETEA Ve

(¢) e (dy fawom

Lo o

(1) ad (a), (b) (2} WK (b), (@, (d) (3) W (a) (b), (© (@) TH (0), (d)

Which are the states of India promoted from the category of Union Territory into that of a State ?

{a) Mizoram (b) Arunachal Pradesh

(c) Goa (d)  Sikkim

Answer options :

(1)  Only (a), (b) (2)  Only (b), (), (d) (3) Only(a), (b). () (4) Only () (d)
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43. TWHIAID! HIURN SITEO 10T EROTeAT Arfesteh qeie smerasmauidy g ?
(a) A I+ HToET, 1948
(b) WY WY HTUGT, 1961
(c) U T 4eor, 1988
(d) werer ey T TrEier AN B T IS, 2006
@A Sl

(1) (@) (b), (d) (2) (@) () (d) (3) (b (0), (d) (4)y =0w 5=

Which of the following are examples of implementation of Directive Principles of State Policy ?
(a) The Minimum Wages Act, 1948

(b} The Maternity Benefit Act, 1961

(c) The National Forest Policy, 1988

(d) Mahatma Gandhi National Rural Employment Guarantee Program, 2006

Answer options :

(1) {a), (b), (d) (2) (@), (o) {d) (3} (b} (0, (d) (4)  All of the above

44. EST 2021 Hed R four uiteee uiHE el MgET WeRg U aiwed waiiys Smn
BT TSThIT Yaihs aTTed ¢
(1) TZamEl ®iug 98 (2) A T BT
(3) fEEs (4) W ST 9

Which political party has largest number of seat in Maharashtra Legislative Council according to
the information published by Maharashtra Legislative Council in November 2021 ?

(1) Nationalist Congress Party (2) Indian National Congress

(3) Shivsena (4) Bharatiya Janata Party

45. TIAEISH! BIOT/A AT Fered/= TEm 7
(a) IR W, Thdl STIYT srEsar femant a S &
(b) wERE HavEE T AR TerdIeRET a9t w0
() STURT Wik TEPITeA THAN TRET e S B,
T v
(1) W (a) 30T (b) (2) R (b) (3) T (b) MM () (4) A (a) SN (0)
Which of the following is/are not a Fundamental Duty/s ?
(a) To uphold and protect the sovereignty, unity and integrity of India.
(b) To exercise our universal adult franchise at the time of general elections.
(c} To value and preserve rich heritage of our composite culture.

Answer options :
(1) Only {a) and (b) (2) Only (b) (3) Only (b)and (¢} (4) Only(a) and ()
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46. NITI 3TN U7 &9 G
(1) National Institute for Transmitting India
(2) National Institute for Transforming India
(3) National Institution for Transforming India
(4) TN BIOTTE TR
Full form of NITI AAYOGis _ .
(1) National Institute for Transmitting India
(2) National Institute for Transforming India
(3) National Institution for Transforming India
(4) None of the above
47. diaumms U HITATE IS S8 TG eandia darad ofitT SeraTiaest Jar
(1) foee st a enfie waeEE (2) Taeer Freem afen
(3) T wiferat aftrn (4) Tieer wETgq Wi
The Constitution provides for setting up of which are expected to consolidate the plans
prepared by Panchayats and Municipalities in the district and then prepare a draft plan for the
district as a whole.
{1) District Social and Economic Review (2) District Planning Committees
(3) District Statistical Committees (4) District Resource Committees
48. TETEAT IEANSE diotTal BTl Teiaoes! BT ?
(1y 1997 - 2002 (2) 2002 - 2007 (3) 2007 - 2012 (4)y 2012- 2017
Which of the following is the duration of 10t Five Year Plan ?
(1) 1997 - 2002 (2) 2002 - 2007 (3) 2007 - 2012 4y 2012-2017
49. 2004-05 =1 fhmeIFE 2010-11 A freae TOI Samasa goe &=mar aret EEIR A
(1) 60.32ZaH (2) 265TFh (3) 2473Fs (4) 182FH
Tertiary sector’s share in Net Domestic Product in 2010-11 at 2004-05 price was .
(1) 60.3 percent (2) 26.5 percent (3) 24.7 percent (4) 18.2 percent
50. WIWdS! VR S daEd Tl g o ?
(1) &ge 324 (2) STT 243 (3) oTTeBT 124 (4) TRT 356
Which of the following Article is related to Panchayati Raj ?
(1} Article 324 (2) Article 243 (3) Article 124 (4) Article 356
51. ‘Wit QreidieTd Qiphis Ude Sareel’ ¥ TIAmye ST TR ahee 8 7
1) TR gE vfmm (2) +eed I gRMH
(3) @rTiBTe Gl (4) o A yREw

To raise the ‘Material as well as cultural level’ is the main objective of which of the following
model 7

{1) Ga_ndhi mpdel of growth {2)  Nehru model of growth
{3) Privatization model (4) Acharya Agrawal model
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52. Qeleriehl U EIT0T 3T GLaraT HNT 3Te ?
(a) wrdwifn R e Qe &
(b) Ui i fived o,
(c) oA fF eaTea el ffyaa o,
(d) T SAEH Sifuemiie aEguaE WEg 0.
TOAYR qFg 99Ty et
(1) (a) T (b) (2) (a) amfer (d) (3) W () 4) ahw ¥4

Which of the following policy is a part of food security ?

(a) strengthening public distribution system.

(b) to set nutrition related objectives.

{c) to decide minimum support prices for food grains.

(d) to promote domestic production.

Choose correct options :

(1) (a) and (b) (2) (a) and (d) (3) Only {c) (4y All above

53. 73 =1 el gERE | {roh oy Fuare el .
(1) 24 ufid 1994 (2) 24U 1995  (3) 24 ufi 1993 (4) 1'11% 1992
73rd Constitutional Amendment was approved on .
(1) 24t April 1994  (2) 24th April 1995  (3) 24t April 1993 (4) 1%t April 1992

54, 74 <7 9AT TERIGER T TIHTU BIVRIT I19 a8 HT0dTd el 7
(a) OIH Tl TTaT
(by fireoTEn TwH
(¢) T famwm wRiEl T
(d) e P E[ET 2T
N W
(1) (a) B ) (b) 3T (c) (3) (d) w (4) I §E
Which thing was essential for State Government according to 74th Constitutional Amendment ?
(a) Establishment of Taluka Committee
{b) Right to Education
(c) Establishment of District Development Committee
(d) Establishment of District Planning Committee

Answer options :
(1) (a) Only (2) (b) and {c) (3) (d) Only (4) All above
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55. orferaen fyafaa @ srwarn, 9Tl ATEEIaE T SO Qi) vl §FreT Sl

TG 7
(1) wafs ) fedim=
3) qdwEm @) fadrs anftr gdas &=

As the economy develops, the occupational structure of the country generally shifts in favour of
which of the following sector ?

(1) Primary (2) Secondary
(3) Tertiary {4) Secondary and Tertiary Sectors

56. HIXGHTE UIEINHY ¢ @& 318
(a) ARIHIT WEAH BT VIO,
(by onfdw faeh (mitfer) Ryl Heon.
(c) WrTieATe ST ¢ Afer Asull gurer.

g Sl
(1) (a) T (b) Had (2) (b) 31T (0) T
(3) (a) AR (¢) Fa 4) et g

Bharatmala Pariyojana focuses on :

(a) Optimization of efficiency in freight movement.
(b) Development of economic corridors.

(c) Improving coastal and port connectivity.
Answer options :

(1) (a) and (b) only (2) (b) and (c) only
(3) (a) and (c) only (4) All of the above
57. SiiSal o ¢
Wy - ‘3 w©|e - @
(a) fsar () e Tt g faandt aien ove 2. VAN
(b) < (m) ST | TATIATHRBT GaETHE STHiG .
(© A (n) SIS JEATETIHAT TR EiE ISdrEdET Uy
T
(1) (@-(n), (b)-(m), (c)-(I) 2y (@-(), (b)-(m), (0)-(n)
(3)  (a)-(n), (b)-(), (c)-(m) (4} (@)-(m), (b)-{I), (c)-(n})
Match the columns :
Group - A Group - B
(a) NISHTHA (I)  identify talented students to enrich their skills
(b) DIKSHA (m) technology enabled platform for teaching and learning
(c) DHRUV {n) initiative for school heads for holistic advancement
Answer options :
(1) (@-(n), (b)-(m), ()-(1) (2)  @-() (B)-(m), (c)-(n)
(3)  (@-(n), (b)-(, (0)-(m) (4)  (a)-{m), (b)-(I), (c)-(n)
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58. Weileiish! B e/ faams alew amed ?
(a) HITLHTE fepra @u waffeq el STaan €9 2014 Wel S,
(b) WNRATE SHTHA Wheardl FEeEeEul Gorl fhe FTdeies @er Wiied TwEde 8.
T S
(1) (a) B SUST AR (2) (b) o FUST 3.
(3) (a) MM (b) T TUST e, (4)  (a) ST (b) TN I HTEA.
Which of the following is/are correct statement/s ?
(a) Sagarmala Development Company Limited was incorporated in 2014.
{b)} Projects under Sagarmala are implemented through Private or Public-Private Partnership (PPP)
mode.
Answer options :
(1) only (a) is correct. (2) only (b) is correct.
(3) Both (a) and (b} are correct. (4) Both (a) and (b) are incorrect.
59. TGN EIEET HITHR, ‘WId 4 Frm fafies’ &= e AU LY ATl
(1) 1991 (2) 1994 (3) 2000 (4) 2005
Telephone department was transferred to Bharat Sanchar Nigam Ltd. in .
(1) 1991 (2) 1994 (3) 2000 (4) 2005
60. WAITIE! BV fqe qREw e 7

(@) TovTW GO AT 2015 JL FT HIG STl

(b) dram WX Rrereor sy O ST Ny TherTae SR AT L.

i S

(1) (a) B (2)  (b) e

(3) (a) alT (b) TG A (4)  (a) ST (b) RN T AT
Which of the following statements are true ?

(a) Ujjwal Yojana was launched in November, 2015.

(b) It's focus has been on billing and collection efficiency of DISCOMS.

Answer options :

(1) (a) only (2) (b) only

(3) Neither (a) nor (b) (4) Both (a) and (b) are correct
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61. WRITe! Tl ATEqa oA Y& THET BVl e ?

(a) T foepmEmEl AT (b) Tre =i
() faum faawor (d) Tea aTEgH @9
A I
(1) (a) %o (2) (a) 3T (b) et
(3) (a), (b) ST (d) B 4) Fhede a9
Which of the following are the major problems in Road-Transportation ?
(a) Slow-paced growth {(b) Poor quality
(c) Uneven distribution (d) High cost of transport
Answer options :
(1} ({a) only (2) (a) and (b) only
(3) (a), (b) and (d) only {(4) All above
62. WA HBA @O Goara qawew 4 .
(1) ¥=T T_d (2) e (3) uf¥ew ST (4) Sy gt
The Coal mining was first started in India in .
(1) Madhya Pradesh (2) Orissa (3) West Bengal (4) Andhra Pradesh

63. WAIAIH] BV TTE™ =T 30 ¢
‘I e’ YeheuTd & BT SR ¢
(a) N BEUFT SATEd™ THIARHC! SS9,
(b) =R WWEm (BPL) HZaT faamged eas qRiem.

T T
(1) (a) %o ST IATE (2) (b) % IET ME
(3) (a) IMVT (b) TN SRS e (4)  (a) anfeT (b) S TH e

Which of these are correct statements ?

The ‘Bharat Net’' Project aims at :

(a) Linking Gram Panchayats through optical fibre network.

(b) Providing free network to the families in BPL category.

Answer options :

(1) (a) only is correct (2) (b) only is correct

(3) Both (a) and {(b) are correct (4) Neither (a) nor {(b) are correct
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64. AR TR WEten fem Hae el S @O o o/ A a7 ar e
GBI 37T
(1) Taren (2) dviare (3) rTIIET (4) STm=TET
Infrastructural development in India is not only urban-biased, but also shows a bias in favour of
(1) poor (2} rich (3) workers (4) farmers

65. Wi e et
(@) AT gelerdleb HIEEl frer ST (NEMMP) =T G297 381 Sart anioT e SeareisT ot ot atfe,
(b) T SIETeM 3is HgHaain ot (FAN) Soaiis I5He (FAME) & S 9o o,
@A T

(1) (a) Fd IO Fqum o,

(2) (b) %o FUET fagm o,

(3) (a) anf¥T (b) TN Fqu™ g amRa.
(4) (a) 3R (b) A=Y Farg™ SET AT

Consider the following Statements :

(a) National Electric Mobility Mission Plan (NEMMP) aims at saving fuel and reducing carbon
emission.

(b) Faster Adoption and Manufacturing of (Hybrid) Electric Vehicles (FAME) is central scheme.
Answer options :

(1) only {(a) is correct statement.

(2} only (b) is correct statement.

(3) (a) and {b) both are incorrect statements.

{(4) (a) and (b} both are correct statements.

66. Wrfee =T e |ifgs Tuariugs ieTid Weidie! BVl S e g ?
(1) uZedl gsfaa sem
(2) RS JAIREATIE T ST HAT (TRIMs)
(3) HURYWS ST SAIYaE: |qHRT BT (GATT)
(4) WEISSE Her
Which of the following clauses is a part of intellectual property rights in WTO ?
(1) Patent related clause
(2} Trade related investment measures (TRIMSs)

(3) General agreement on tariff and trade
{(4) Social clause

HAT FMMETE AN / SPACE FOR ROUGH WORK
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67. WIS F fum™ B ?
(1) WHE I [aavsis dfaewd SuRT 9T Jevad Wed B a¢ JEEue [aavebis
areferarda arfiercar 39
(2) T TEE YTAHHe rfardd WA Jed a¥ VEETe! [aaume el T S
HITET Bl
(3) WA WRHIY TIH AU TEEIe [aaveheal Bael e o,
(4) UHT YD [AAH & Hde AeHaaia e el o

Which of the following is a correct statement ?
{1) FDI helps to increase the productive capacity of the economy while FPI leads to volatility.

(2) FDI leads to increased purchasing power in the economy whereas FPI benefits foreign share
market.

(3) FPI is more beneficial than FDI in India.
(4) FDI is beneficial for developing nations only.

68. WISVl Hhedwd @ieiid SIaIal FHEST 24y
(a) WIS AT AIAHE EH SENTIhS TRIaL.
(b) e anftr @Rl SERTET Wi arErd.
(c) WTESG ST Ao faeh.
(d) W HEAITHS &% Sldid B
HTF T .
(1) (a) T (b) (2) (o) & (0 (3) (o) & (d) 4) 0w ud
Privatization concept includes :
(a) Transfer of ownership of public enterprises to private enterprises.
(b) Joint partnership of public and private enterprises.
(c}) Selling of public enterprise assets.

(d) Transferring rights to private management.
Choose correct options :

(1} (a) and (b) (2) (b) and () (3) () and (d) (4) All above
69. WIHIAUH! BT SHfereh ST Je2 e Ry aNiT & W smifkan o g el e 7
(1) wag (2) ®rE (3) gl Hua (4) go™
Which of the following bioproduct patent was challenged and India collected it again from the
USA ?
(1) Turmeric (2) Bitter gourd (3) Bottle gourd (4) Basil
70. MR GIEEAR G T Y0 e HHIBT 3T,
(1) o= (2) g&= (3) uftwm (4) gTEEn
The indian telecommunication network is now in position in world.
(LY Third (2) Second (3) First {4y  Fifth
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71. T WA (2014) TER 2011-12 18T GET (YD AT B AETETS € _ T g
qETETs! T RS gl ol HIvgT e,
(1) 47 siT 39 (2) 47 sy 31 (3) 67 amity 32 (4) 47 amivy 32
As per Rangrajan Committee (2014) the poverty line for 2011-12 was at ¥ and ¥
per capita per day respectively for urban and rural areas.
(1) 47 and 39 (2 47 and 31 (3) 67and32 (4) 47 and 32
72. T W (] SiF9) FIEH & qreaTslt WS A
(1) e w9t (2) SEREARE wErRT
(3) SERIEIE Al (4) o BT
The Blue box subsidies are concerned with .
(1) Limit of export (2) Limit of production
(3) Limit of import (4) Child tabour
73. I T YA B A5G BB Ted S b i wan.
(1) SR Gl (2)  HaU wHdlh
(3) S Hdih (4) <91 Hahdleh
The first two digits of Goods and Services Tax identification number specifies
(1) Product Code (2) Service Code
(3} State Code. (4) Country Code
74. WA GIHRS 1973 91 BU BEE T BT 1999 AL TATID] BT Higal He[T befl ?
(a) IRDA (b) RERA {c} FEMA (d} FRBM
T I
(1) W& (a) 3T (b) (2) T (<) ST (d)
(3) e (d} (4) & (¢}
Which of the following Act was passed by Govt. of India in 1999 after cancelling FERA, 1973 ?
(a) IRDA (b) RERA (¢ FEMA {d) FRBM
Answer options :
(1) Only (a} and (b) (2) Only (c) and (d)
(3) Only (d) (4) Only (0)
75. wzmsmaﬁwﬁqmmﬁmaﬁwﬁa@m%m#m@%wﬁa
S fhfad.
(1) 50 (2) 45 3 73 (4) 68 .
The Oxfam report 2018 says that one percent richest people are generating_____ percent National
Income in India.
(1) 50 (2) 45 {3y 73 (4) 68
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76. fagiw ameter sifier (SDR) ® -
(1) SATOEE OIS SR e STEaemas P o aE geeaeiegs
BT 31T
2) IO TR T Wfavad T U qesE AfuwT A,
(3) wImiae dopsll wETa Rrpamele e Rt Ruas st oma.

(4) ST foeE GEY Heicvaiiwgs 9 SiarUsg AEaiawas ST o,

Special Drawing Rights (SDR) are :

(1)  The rights to solve the problem of international liquidity regarding foreign exchange reserves
of IMF.

(2)  The rights regarding investment and foreign currency of IMF.
(3)  The rights regarding development funds of developing countries of world bank.
(4) The rights regarding credit and international liquidity of IDA.

77. S AT wEE G RO aRan T S (Te-aeE) SEEe e g e

et 7

(i) 6% T6167% (i) 5% T&7 55% (i} 7% I8 77%

T T

(1) (i) (2) ()

(3) (i) @) Thwde Fad A
As a member of the WTO India increased its bound tariff lines from :

(i) 6%to67% (ii) 5% to 55% (iily 7% to 77%

Answer options :

(L) (i) (2) ()

(3) (i) {4) None of the above

| 78. WD BHIVAT TREBMIGH TS AR FEewr Tl e wrageie T ?
(1) wiepls e

(2) udeA faa™

(3) TS fywm

(4) AN Nifigs Ty 5w

From which point of view of the following “WTO" is net beneficial to Indian Economy ?
(1) Cultural Development

(2)  Tourism Development

(3) Political Development

(4) Trade Related Intellectual Property Rights (TRIP)
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79. GATS =UTUETET HT & =7 T qEiid o
(1) qate (2) T swH (U22)
(3) wiafadr siRkmee (FHdEe) (4) =y Rl ()
GATS deals with trade in
(1} Services (2) Patent
(3) Copyright (4) Trademark
80. SIFTRIHTN & TF a1of Ahkan ong wurges

(a) oni¥iep UGBTI IR @l ad
(b) onf¥e urstear amed

(c) VAUHE ITTAEK a8 B

(d) onf¥fe TrERERTNE awed

W e

(1) (a bYd (o (2) (b), (0T (d) (3) (a) (b) & (d) (4) (a), (©F @@
Globalization is a process of :

(a) deepening economic integration
(b) increasing economic openness

(c) increasing cross-border terrorism
(d) growing economic interdependence

Answer options :
(1} (@) (b) and (c) (2) ) ()and(d) (3) f(a)(b)and(d) (4 (a), (0 and (d)

81.

A B el WS TaavE STrEsHier (TRIMs) Sawfre Sfgse/efse ey ?
(a) ToTHM SeTeRsA Tt wrdre.

(b) TVATE aifehal el AT FRy/Srafaeee aar .

(0 W e ST FrETe o €.

(d) TSR EEAT.

i i

(1) %99 (a) (2) &I (b) (3) () omfT (d) (4) (o) ST (0)
Which of the following is/are not the objective of TRIMs (Trade Related Investment Measures) ?
(a) Promoting exports from the host country.

(b) Trademarks including service marks.

(¢) Advancing economic and social policy goals.

(d) Technology transfer.

Answer options :
(1) Only (a) (2) Only (b) (3) (a)and (d) (4) (b) and {(c)

o1 FHTET AN / SPACE FOR ROUGH WORK
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femaelin e wewia SmThiawToTer gReY Eeedel v 98 9uds o 7
(a) Wwﬁmamﬁww@amfﬁa&a%mm@vwmﬁr&éﬁ

wﬁmm@waﬂwm@?ﬁahﬂmmﬁwmqmwﬁaﬁ
(c) SRTaaE o] Wihaqs faemaelie Tamda aftea gx oot o,
(d) SIFTICTbIeh ORI SHTE SSTOTEETYT WISl JHTER B,
FUAIH AT T BT 7
(1) @ G (2 b, dsRT© (3) @, @R (d) (@) (), (b) s (d)
Which of the following points are apt. for developing nations in defense of globalization ?

(2) Globalization promotes FDI without forcing developing nations into international indebtedness.

(b) Globalization promotes modern technology and enables developing nations to make use of
it without investment in R and D.

{c) Globalization has helped to reduce the poverty of nations in developing stage.

(d) Globalization leads to faster diffusion of knowledge among developing nations.

Which are the correct answers ?

(1} (@ (b)and () (2} () (dand (0 (3) () (and(d) (4 (@) (b)and (d)

83. FURESHT Stasd quwh sFHs] (TRIPs) WIRN sapraT a9l 2y ¢

(a) wiaferdr sop

(b) =UR fa=

() gSifavas R

TOTIB! DI Tp ATIeh AR GO (WTO), 2 sfata yeenfie a7

(1) %K (a) (2) W (a) O (b) (3) WE (a) AT () (4) (a), (b) AR ()

Trade Related Intellectual Property Rights (TRIPs) covers following rights :
(a) Copyright

(b) Trademarks

(¢) Agreement on agriculture

Which of the above rights introduced by WTO under TRIPs ?

(1) (a) only (2) (ayand (b) only (3) (a) and (o) only (4) (a), (b) and (c)
84, SIFIRY® AR a2 (WTO) Fated it T 3R,

(1) FrEx T g (2) vwhrisw wftwg

(3) W TS (4) WA HS@

The Supreme authority of WTO is )

(1) Dispute Settlement Body (2) Ministerial Conference

(3) Director General (4) General Council

FHoH] FTTAS ART / SPACE FOR ROUGH WORK PT.O.
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_ 9 A YA TaEUE reded uaslt aaus S St e

(1) &) TUaT ATEH SR

(2) TAEUE UK QAT SATIRIETSAT BT

(3) QA ST FIX

(4) FhAAH THE TE

Under the foreign investors will be given same rights as the national investors in the
matter of investment.

(1) Trade Related Intellectual Property Rights

(2) Trade Related Investment Measures

(3) General Agreement on Trade in Services
(4) None of these

86. WEoHIG HUEl TV @i el e -
(a) foma (b) @ Hol Ao
() wHwEe (dy Tawrg
T S
(1) (a) wR (2) (b) & (3) (a) () oT () (4 @
Public debt affects on the following things :
(a) Price (b) Income and Wealth Distribution
(¢) Increase of Tax (d) Development
Answer options :
(1) (a) only {2) (b) only (3) (@), (b) and (0 (4) All above
87. ¥ T GO WIS G SEH eV TEgA W@ iU e
(1) HET HOA e (2) @S ST HATIS; THAT
(3) HEY A (4) aOATE BT AT
is not the major revenue source of State Government which comes from GOL
(1) Share in Central Taxes (2) Loans and Advances
(3) Central Grants (4) None of these
88. W WEwTH @R @aRar) rard gl T TTAENET FHTST W HEAT W STTE.
(1) i (2) Tadies
(3) ToE® (4) Tl TEHE ATl
Community Health centres are located at the level of Indian public health care infrastructure.
(1) Primary (2) Secondary
(3) Tertiary (4) None of the above
89, TR YTl T 2018-19 WY WaifrE TEGH T 90,140 FE Fah! SGST AT o e ?
(1) ey, (2) AT WEH (3) wIEH (4) TEIUE
Which of the following state received highest revenue ¥ 90,140 crores from SGST for 2018-19 7
(1) Tamilnadu (2 UP (3) Karnataka (4) Maharashtra

Fo=1 FTAETE A6 / SPACE FOR ROUGH WORK
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90. TGIHNIT T WISl .
(a) TERR T + e W — v @
(b) oI TABE TS+ S FAT I
(¢) wISTH! T — Hisaell @Y
(d) FEgw W — HEge wd
S
(1) (a) ®H (2) (2) ST (b) (3) (b) wad (4) = wd
Fiscal Deficit means :
(a) Revenue Receipts + Capital Receipts — Total Expenditure
(b) Budget deficit + Government market borrowings and liabilities
(c) Capital Receipts - Capital Expenditure

(d) Revenue Receipts — Revenue Expenditure
Answer options :

(1) (a) only (2) {a) and (b) (3) (b) only {4) All above
91, TN SO HeATen Ui e B

(1) To9a vda T (2) |IHET q=T

(3) TERA T O (4)  FOAAP BIOQE AE

The deficit financing leads to

(1} Rise in price level {(2) Government faces loss

(3) Declining output level {4) None of these
92, T G 2019-20 T WeRISTd qaiiusd sy frewt ar.

(1) werrg Ty fasr R st
(2) ofranfe @ e
(3) OFIHTY ARy (ITguT FiY)
(4) FERTSE TG IR AT6(D TEHSH
is the major subsidy receiving sector in Maharashtra in 2019-20.
(1) Maharashtra State Electricity Distribution Company
(2)  Incentives to industrial units

(3) Food grain distribution for Annapurna etc.
(4) Maharashtra State Road Transport Corporation

93. g WIHITH! SHETITBIT SHITAK 2019-20 Fevet Tepvr o el 2] TUY B
(1} 1025599 (2) 10255099 (3) 9745410 (4) 509689
Total Loan Liabilities of central government in 2019-20 budget estimates was crore rupees.
{1) 1025599 (2} 10255099 (3) 9745410 (4y 509689
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94. How{ B THRM W Rrerst e
(a) WHITTG ISTIIe 9gd <E el urer
(b) I ST =AU Haeld <€ &AL
() U v TGS HEl
(d) Gurlid Feagal &Y Aot
R S
(1) (a) G (2) (b) ®ead (3) (a), (b) M () (4) M &S
Kelkar task force committee recommended following recommendation :
(a) Standard deduction system should be cancelled.
(b) Exemption on saving and interest should be cancelled.
(c) PAN number should be compulsory.
(d) Modified value added tax.
Answer options :
(1) (a) only (2) (b) only (3) (a), (b) and () (4) All above
95. WEIH HvEr @ & T-Tuee Ty 7
(1) & 2) e
(3) = IO (4) TEmr gia
Which of the following is not Non-development expenditure ?
(1) Defence (2) Police
(3) Interest payments (4) Medical facilities
96. 73 o anftr 74 & TRATGER Hasd Hewl Wi Fwl 7
(1) < 1991 (2) TR 1991 (3) fedsT 1992 (4y TfE 1993
When 73 and 74t Constitutional Amendments were passed by Parliament ?
(1) June 199l (2) August 1991 (3) December 1992 (4) April 1993
97. 1987-88 AT HATIHNT AdeHIG Tale HiHI WHA FHL bl W,

(1) TeurEs ofr FFries

2 Femra anfty fawmar &4

(3) HEHE aniftT swisEH T

(4) @Y anftr wigaw @«

Central Govt. Public expenditure classification is of following type after 1987-88.
(1) Defence expenditure and Civil expenditure

(2) Development and non-development expenditure

(3) Revenue and capital expenditure
(4) Current and capital expenditure
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98. WU TSI Halld AR HIvRT ?
(a) ST ol (b) wEE
(c) TSrIYE g (d) TGE Iae
T I
1) (a) ®& 2) (b) 3T () (3) A TR (4) T TY
Which of the following are the sources of public debt ?
{a) Market Loans {b) Bonds
(c) Treasury Bills (d) Temporary Advances
Answer options :
(1) (a) only {2) (b) and {¢) {3) None of these (4) All above
99. e 2012 =T MRS STERTRAT RIS Tt SIiET THETeie AEEE SesT I 2009-10 Hed
3% TN .
(1) 19.8% (2) 21.9% (3) 29.8% (4) 45.0%
According to the press note issued by Planning Commission in March 2012, percent of population
living below poverty line has come down to into 2009-10.
(1) 19.8% (2) 21.9% (3) 29.8% (4) 45.0%
100. WIeliedehl HIVAT Soral G SRR 308 ?
(1) wroare s (2) N FEA
(3) W@ AHS (4) X St
Which of following is the non-conventional source of energy ?
(1) Animal Dung (2)  Agricultural Waste
(3) Fuel Wood (4) Solar Energy

-o0o0-
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T - (g= 1 96 ...

8) weTgRaHwed fafeq down fafire arie &8 & (% o%) HTR.  FeTgRabsefiiE bt a1 Tt
FREET F FTH HEAE I BT HLvarar SRAW S AR, o THO TRS 9 WA JHFARTET I S
Fear “qhEmE Svm= IRTHEIET Ry HreaEEay SfEH-8 2" AR dIgagar HETE S0 5%
T I el FE TH AT HIREETET Aifvy/RE TU UF B Theen e R ur EEe.

(9) WA FITUREHAS TErTe faftd ¥ % U SASATTE & WYRaET W aial THEhaTEEl
TV TRE R, A TR A A SO SRR H— 1 FEEERS 7 R 1w w0 A6

.
T T
9. %. 201. G O T2 HLTEIS! B A WA et ?
(1) @ e g @ dyaay frEmarr
(3) T AR T @)  TIEEST TE

¥. %. 201,

o WY G T (@) TS U U o aE. e 91 W S ((3)7 Ege. I G
g9 . 201 e Soe—wAE @) ¥ 9dw Toive wraifEd HE Fraf AEE o,

ONON MO
manqaﬁﬁu@auaﬂgﬁaﬁammwww—mawmﬁmgﬁmwﬁm
I T VTS SR age U BRI HEd arEardT. SRR S Fea e oA A,
e T AT ¥ T
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